(2x=5)(x=3) - (3x+2)(x-3) & <A

D (x+3)(x+7)

@—<x—3)(x+7)
©® (x=3)(x+7)

gl

shei?




2. @®b+2ab-2a-4, 2a® + 4a - 2ab - 4bE ©

PR
Q149

D a @ a+b @a—i—Z
@ a-b ® ab-2

B

tlo

o

a*b+2ab—2a-4 =ab(a+2)-2(a+2)
= (a+2)(ab-2)

2a® + 4a - 2ab — 4b = 2a(a+2) — 2b (a + 2)
=2(a+2)(a-b)

ro
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1 1
= — = \/5—1,[7: =\/§+1
V2+1 V2-1

a’-b* = (a+b)(a-b)
=(V2-14+ V2+1)(V2-1-V2-1)
=2v2(-2) = -4V2

a
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x4+ 2

v V.V
02
L

02
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|
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= Wo]2 Wi 2 — 40]BE (x4 2)(x-2)




5. 224+ (3+2V3)x+ (3+3V3) & QB3] oozt
=i

>
> ®HE D (x+3+ V3)(x+ V3)

a=3+V3, b= V3ol A a+b = 3+2V3, ab=3+3V3
olmg
P+ (3+2V3)x+ (3+3V3) = (x+3+ V3)(x+ V3) o]tk




5x% + (2a—5)x—14 & AFEolotH (x-2)(5x+b) & ™, A5 a, b
o & at b o G Totolet

(x = 2)(5x + b) = 5x* 4 (b—10)x — 2b

5x2 + (2a—5)x — 14 = 5x% + (b — 10)x — 2b
2W=14=b=7,2a-5=b-101a=1
a+b=8




7. T2 HEINM a-b-c+d 2 S Tzt

H7]
@ x> +2x-15=(x-3)(x+a)
© 2x* +10x+ 12 =2(x+ 3)(x + b)
© (x+c)(x—c)=x2-9 (c>0)

® —2x2 - 16x—32 = —2(x + d)?

[
H -

>
l> XMekr oy

oH =

B

@D +2x-15=(x-3)(x+5) ~a=5

©2x> +10x+12=2(x+3)(x+2) .b=2

© (x+3)(x-3)=x>-9 .c=3

@ —2x?-16x-32=-2(x+4)? ..d=4

et a=5 b=2c=3,d=4°E2 a-b-c+d=4
o},




8. 2 -Tx+A7Fx-2=E ro] ol of, A o] gh= 517

@)e @ 5 ® 3 @ 0 ® -9

232 -Tx+A=(x-2)2x-3)=2x>-Tx+6
L A=6




St o] Aol7t 42} xem ycm o] AAFZEY mefo] A 7}
E9ltt. o] F 7t=o] Ee9] Zo]o] 27t 24 em ©]3L Hol2
150cm? o o, F 7t=2o] o] ZAolo] §-g FolH?

@ 6cm @ 25cm @ 50 cm

@ 100 cm ® 150cm

4x —4y =24°|E2 x—y=6

x2—y? = 15001 B& (x +y)(x-y) = 150
x+y=25

< 4x + 4y = 100




10.

oF bem 91 Y 5

gro] 109 cm? & o, \o

X
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39

Zol7} s2em 9 T A3 F |2 et g o] Aol 242
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il
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® 7em? @ 13cm? @ 25cm?

@ 49cm? @ 91 cm?

B ,

da+4b=52°]B2 g+ b =13

a® + b* = 109

(a+b)?-2ab = a® + b*

109 = 169 — 2ab

..ab =30

(a-b)? = (a+b)? - dab = 169 — 120 = 49
a-b>0,a-b="7

b =(a+b)a-b)=13xT7=91




